~Solve by Factoring Notes~

SOLVING WHEN ALREADY IN FACTORED FORM
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Solve.
1. (x+1)(x-5)=0 2.(4x+5)(x+1)=0 3.(2x+3)(4x+3)=0
gy )(:;’: Yx1s=0 X+1=0| 2X+2=
< Hy ==S =*9/2
|x=S4 X=-1 | Hx¥2=0

: Tmc:—
SOLVING USING GREATEST COM OR

Factor using 6CF. Then solve.
(5. 6x2 +12x= 0
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x“+ 14x =0
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X+14=0

6.

SOLVING USING THE DIFFERENCE OF TWO SQUARES

Factor using DOTS. Then solve

7.x2-36=0
(X+b) (X=1)=0
X:Ilﬂ/

8.4x-81=0
(ax +a) (ax-a) =0
Xi= i‘ﬂz_

Factor each trinomial. Then solve.
9.x*+3x-28=0 e
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SOLVING TRINO:
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